1.

A= THE 6 7ie] Aol
717

@®© 25% @ 274

o

@ 28%

@ 29%

N
rlo

® 30%



7]

2. Al AAo] th& ™ gol v off, &2 A

n= 92H9

rlo
o

Q@ za & zi= FHZCI.
© zd €} si = SZFolH.

© f &} th = DEAZo|rt,
@ zc o £f = FHZCI.

® 9,0 @ 6,0 ® ©
® Q0,06 ® 9,®



3. O A x4+ oy A7E?

31—40°

22+10°(\Iq

y+20°

@© 24° @ 38° ® 46° @ 62° ® 70°



4. T 1914 ZAOD = 300D, /BOE = 2/DOE ¢ T, /COE

3717

>0
o
e

@ 40° ® 50° 3 60° @ 70° ® 80°



®© ® © © ©

ohe 9T 22 A2 ABCD of g ok A1 & %
=

A

o
ko
A

rlo

A D

O

A ColA A4 AB o Wl 49 2e B oleh.
ZADC = 90°

A D oA Z4 AB Aol 9] Al
A C oA HA AB Ato]2] A=

A A oA 24 BC o W 49 dr2 g D o|tt,



6. oS aHAM I/ mE W, 1x9 272

46°

® 12° @ 13° ® 14° @ 15° ® 16°



7. The IRl 1/ fm A W, 1 ) 2715 T2

300 l
140°
Z
20
m

O 40° @ 50° ® 60° @ 90° ® 100°



O 56°

@ 66.5°

@ 70°

@ 77.5°

® 80.5°



9. o2 2HAA 1 //m °]1, /ABP = /PBD, /PDB = /PDC ¥ ],
[x — LyE?

2
. D\ m

O 30° @ 40° @ 45° @ 50° ® 55°



10. the 233} o] CB//DA 9l Fol glo|zg
(ABC = 55° 7} B|= & it o] o], /x
3717

@ 50° @ 60° 3@ 70°
A

@ 80° ® 90° D A



